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{dÚmÏ¶m©Mo Zmd - ................................................. 
      

grQ> Z§~a -	      	  df© 23 do
6‘hm.Q>°b|Q> gM© narjm, OiJmd B¶Îmm ghmdr  

CÎmao Zm|X{dÊ¶mnydu Imbrb gd©gm‘mÝ¶ gyMZm dmMm.¶m gd© ‘mÜ¶‘m§gmR>r gma»¶mM AmhoV.
1) 	 gdm©V ‘hÎdmMr gyMZm {‘imbobr àíZn{ÌH$m hr Amnë¶mM dJm©Mr ( 2 ar Mr ) Amho H$s Zmhr ¶mMr ImÌr 

H$amdr. narjm Pmë¶mda doJù¶m dJm©Mr AJa ‘mÜ¶‘mMr àíZn{ÌH$m ~XbyZ nwÝhm narjm KoVbr OmV Zmhr. 
(CÎmao H$mù¶m C‘Q>Umè¶m ~m°bnoZZoM N>m¶m§[H$V H$amdrV.) 

2) 	 ‘w»¶ narjoV àíZn{ÌH$m {‘iÊ¶mAmYr Vwåhmbm Vw‘Mo Zmd, grQ> Z§~a, ‘mÜ¶‘ d H|$ÐmMo Zmd [b{hbobr 
CÎman{ÌH$m {‘iVo. grQ> Z§~a d Zmd ¶mda H$moUVrhr {Jadm{Jad AJa ImS>mImoS> H$ê$ Z¶o. {Jadbobo AJa 
ImS>mImoS> Ho$bobo Zmd qH$dm grQ> Z§~a g§JUH$mbm dmMVm ¶oV Zmhr. n¶m©¶mZo Vw‘Mr CÎman{ÌH$m Vnmgbr 
OmUma Zmhr. CÎmao Zm|X{dVmZm CÎman{ÌH$m ’$mQ>Uma Zmhr ¶mMr H$miOr ¿¶m. CÎman{ÌHo$da CÎmam§Mo Jmob N>m¶m§{H$V 
H$aÊ¶m{edm¶ H$mhrhr {bhÿ ZH$m, ImS>mImoS> H$ê$ ZH$m AJa H$moUVmhr S>mJ nSy> XoD$ ZH$m. CÎman{ÌHo$bm KS>r 
nSy> XoD$ ZH$m.

3) 	 ¶m àíZnwpñVHo$V ^mfm (‘amR>r) d J{UV - ^mfm ( B§J«Or ) d ~w{Õ‘Îmm Ago H«$‘mZo EHy$U 100 àíZ AmhoV. 
CÎmao {b{hÊ¶mnydu {dÚmÏ¶mªZr Vo nyU© 100 AmhoV H$s ZmhrV ¶mMr àW‘ ImÌr H$ê$Z ¿¶mdr. àíZnwpñVHo$V 
H$moar nmZo AJa AÝ¶ H$mhr Xmof Agë¶mg àíZnwpñVH$m n¶©dojH$m§H$Sy>Z bJoM ~XbyZ ¿¶mdr. narjoZ§Va Vr 
VH«$ma J«mø Yabr OmUma Zmhr.

4) 	 CÎmao Zm|X{dÊ¶mgmR>r ñdV§Ì CÎman{ÌH$m Amho. Vwåhr Zm|X{dUma Agboë¶m CÎmam§Mo dV©wi nyU©nUo H$mù¶m 
C‘Q>Umè¶m ~m°bnoZZoM N>m¶m§{H$V H$am. EH$m àíZmgmR>r EH$mM CÎmamMm N>m¶m§{H$V H$am. AY©dQ> N>m¶m§{H$V 
Ho$boë¶m qH$dm dV©wimÀ¶m ~mhoa N>m¶m§{H$V Ho$boë¶m dV©wimbm JwU {Xbo OmV ZmhrV. dV©wimMr H$S>m d AmVrb 
nyU© ^mJ N>m¶m§{H$V Ho$bm Jobm nm{hOo. 

5) 	 àË¶oH$ CÎma H$miOrnyd©H$ d ImÌr H$ê$Z Zm|Xdm. H$maU EH$Xm Zm|X{dbobo CÎma ~XbVm ¶oUma Zmhr. H$moUrhr 
Vwåhmbm doJù¶m nÕVrZo CÎmao Zm|Xdm¶bm gm§{JVbr Var Ë¶m§Mo EoHy$ ZH$m. CÎma Zm|X{dÊ¶mMr ¶mo½¶ nÕV 
Imbrb à‘mUo Amho.

	 … CXm. àíZ 1            
6) 	Imbrbà‘mUo N>m¶m§{H$V Ho$bobr CÎmao J«mø Yabr OmV ZmhrV.
	 CXm.     CXm.     CXm.     CXm.     CXm.    
7) 	 CÎmamÀ¶m dV©wimV ~amo~aMr AJa MwH$sMr (   )   (   ) IyU H$ê$ ZH$m.
	 CXm.           CXm.        
8) 	 narjm gwê$ AgVmZm H$moUmerhr ~moby ZH$m AJa H$moUmÀ¶mhr CÎmamMr H$m°nr H$ê$ ZH$m. Ago Ho$ë¶mg Vwåhmbm 

narjmJ¥hm~mhoa H$mTy>Z Q>mH$Ê¶mV ¶oB©b. 9) CÎman{ÌHo$da ghr H$am. AÝ¶Wm Vr Vnmgbr OmUma Zmhr. 10) 
n¶©dojH$m§Zm àíZm§Mm AW©, CÎmao qH$dm H$mhrhr {dMmê$ ZH$m, Ë¶m§Zr H$moUmbmhr CÎmao gm§JÊ¶mMm à¶ËZ Ho$ë¶mMo 
Vwåhmbm AmT>ibo Va H|$Ðg§MmbH$m§H$S>o bJoMM VH«$ma H$am. 11) àíZnwpñVH$m d narjoMo AmoiInÌ {ZH$mbmn¶ªV 
OnyZ R>odm. 12) narjm hm°b‘Ü¶o ‘mo~mB©b d H°$ë³¶yboQ>a dmnaÊ¶mg nadmZJr Zmhr. 13) narjoMm {ZH$mb 
www.mtsjalgaon.co.in ¶m g§Ho$VñWimda bmJVmo. ¶m~m~V H$moUrhr ’$moZ H$ê$ Z¶o. 14) narjobm 
OmJoA^mdr O{‘Zrda gwÕm ~gmdo bmJVo. Ë¶mgmR>r AmgZnÅ>r, n°S> gmo~V ZoUo Amdí¶H$ Amho.
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à.01 	 Imbrbn¡H$s H$moUVm eãX na^mfr¶ Amho ?
	 j ^yJmob 	 k H$modim 	 l BZm‘	 m JwS>Km
à.02 	 Imbrbn¡H$s H$mZS>r eãX H$moUVm ?
	 j H$modim 	 k AS>{H$Îmm 	 l hþHy$‘	 m JXmamoi
à.03 	 Ym|S>mo Ho$ed H$d} ¶m§Zm ^maV gaH$maZo H$moUVm {H$Vm~ {Xbm ?
	 j ‘hfu   	 k H¥${f^yfU  	 l ^maVaËZ	 m em§VrXÿV
à.04 Vo 07  JQ>mV Z ~gUmao nX H$moUVo ?
à.04	 j ¶mVZm 	 k H$ir	 l ì¶Wm	 m eyi
à.05	 j j 	 k  k    	 l i	 m E
à.06	 j JdgUo  	 k {‘iUo 	 l hadUo	 m gmnS>Uo
à.07	 j g^modma      	 k nQ>H$Z    	 l AmnmoAmn  	 m ObX

à.08 *	 Imbrbn¡H$s {deofZm‘ H$moUVo ?
	 j MoVH$	 k gamoda 	 l XþH$mZ	 m {h‘mb¶
à.09	 d{S>bm§À¶m ZmoH$ar{Z{‘Îm gVV hmoUmè¶m ~Xë¶m§‘wio lmdUrÀ¶m {ejUmMr ...............

darb dmŠ¶mV Imbrb n¡H$s H$moUË¶m dmŠàMmamMm Cn¶moJ H$aVm ¶oB©b ? 
  	 j AmH$me ’$mQ>Uo  	 k hmV^ma bmJUo	 l h~Hy$Z OmUo	 m Am~mi hmoUo
à.10	 "N>m¶m' ¶m eãXmÀ¶m {dn[aV AWm©Mm eãX H$moUVm? 
	 j ‘m¶m   	 k àH$me   	 l aOZr  	 m amÌ 
à.11	 nrR> ‘iÊ¶mgmR>r dmnabr OmUmar bmH$S>r namV H$moUVr ?
	 j H$mWdQ>    	 k nmQ>m dad§Q>m    	 l Ib~Îmm   	 m nmWadQ>
à.12	 "J¥hàH$ën' ¶m eãXmV OmoS>mjao {H$Vr?  
	 j VrZ      	 k EH$     	 l XmoZ 	 m Mma
à.13	 ‘wI© ‘Zwî¶mbmM .......... åhUVmV.
	 j AH$boMm H$m§Xm    	k H$irMm ZmaX     	l PmH$bo ‘m{UH$    	m C§~amMo ’y$b
à.14	 Am§ã¶m§À¶m PmS>m§gmR>r g‘yhXe©H$ eãX H$moUVm ? 
	 j AT>r      	 k amB©       	 l Am‘«nmbr    	 m Am‘«I§S>
à.15	 emã~mg ! Mm§Jbo H$m‘ Ho$bog ~oQ>m ! ¶m dmŠ¶mV ........... Aì¶¶m§Mm dmna Amho.
	 j {H«$¶m{deofU       	k C^¶mÝd¶r      	 l Ho$dbà¶moJr      	 m eãX¶moJr

nona n{hbm : ‘amR>r d J{UV (àíZ 1 Vo 50)

gdm©V ‘hÎdmMr gyMZm  : ¶m àíZn{ÌHo$Vrb *  Agboë¶m àíZm§Mr XmoZ CÎmao AmhoV. Vr XmoÝhr CÎmao Zm|XdmdrV 
VaM Ë¶m àíZmbm JwU {‘iVrb. EH$ ~amo~a Agbo Var JwU {‘iUma Zmhr. The questions with * mark 
has two correct answers. Encircle the two answers, then you get marks.For one 
correct answer, you won't get marks.
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Q.16	 36 ¶m {ÌH$moUr g§»¶oMm nm¶m {H$Vr ?
Q.16	 What is the base of a triangular number 36 ?   
	  8 	  9 	  18 	  12

Q.17 * Imbrb nXmdbr gmoS>dm. Solve the following expressions.
	 121 ÷ 11 + 196 ÷ 14 _ 625 ÷ 25 + 64 ÷ 8 + 12 x 6 = ?
	  80 	  8 X 9 + 8 	  72 	  64

Q.18	 843245 ¶m g§»¶m‘Yrb 4 ¶m A§H$m§À¶m ñWm{ZH$ qH$‘VrVrb ’$aH$ {H$Vr ?
Q.18	 What is the difference between the place values of the digit 4 in the 

number 843245 ?
	  39906 	  39960 	  39806 	  40,000

Q.19	 ‘moR>çmV ‘moR>r nmM A§H$s g§»¶m d bhmZmV bhmZ VrZ A§H$s g§»¶m ¶m§Mm JwUmH$ma {H$Vr ?
Q.19	 What is the product of largest five digit number and smallest three 

digit number ?
	  99999 	  999990 	  9999900 	  999900
Q.20	 àm§Ob Xa‘hm < 850 ~MV H$aVo, Va Vr 6 dfm©V {H$Vr én¶o ~MV H$arb ?
Q.20	 Pranjal saves < 850 per month, then in 6 years, how much amount 

will she save ?
	  5100 	  61200 	  62400 	  51000

Q.21 	 9 {H$.J«°.750 J«°.gmIa 5 OUmV gma»¶m à‘mUmV dmQ>ë¶mg àË¶oH$mg {H$Vr gmIa {‘iob?
Q.21	 9 kg 750 gram sugar is distributed equally among 5 people, then 

find the share of each one ?
	  1 kg 095 gm. 	 1 kg 800 gm.   1 kg 950 gm  1 kg 850 gm.

H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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Q.22	 EH$ dhr ~ZdÊ¶mg 72 noOog bmJVmV Va 3 S>PZ døm ~ZdÊ¶mg {H$Vr noOog bmJVrb?
Q.22	 If a notebook is made from 72 pages, then how many pages are  

needed to make 3 dozen notebook ?
	  216 	  864 	  2520 	  2592

Q.23	 (1,3,5,9,15,45) ho Imbrbn¡H$s H$moUË¶m g§»¶oMo {d^mOH$ AmhoV ?
Q.23	 Which of the following number has the divisors as 1,3,5,9,15,45 ? 
	  30 	  50 	  45 	  60

Q.24	 Oa 35*6 hr g§»¶m 6 Zo {d^mÁ¶ Agob Va * À¶m {R>H$mUr bhmZmV bhmZ H$moUVm A§H$ ¶oB©b?
Q.24	 The number 35*6 is divisible by 6, which smallest digit will replace 

at * ?
	  4 	  7 	  1 	  6

Q.25*	 Oa 8963* hr g§»¶m 5 Zo {d^mÁ¶ Agob Va * À¶m {R>H$mUr H$moUVm A§H$ ¶oB©b?
Q.25*	 The number 8963* is divisible by 5, then which of the following digits 

should be at * ? 
	  4 	  5 	  9 	  0

Q.26	 (A+10+15+B = 60) Oa A = 8 Agob Va  A x B  = {H$Vr ?
Q.26	 A+10+15+B = 60, if A = 8 then what is the value of A x B = ?
	  27 	  216 	  270 	  208

Q.27	 A

D

B

C
55º

Imbrb g‘^yO Mm¡H$moZmMo {ZarjU H$am Am{U m∠C Mo ‘mn H$mT>m.
Q.27	 Observe the given figure of Rhombus and find the 

m∠C = ?
	  35º       135º 	     125º 	  145º

H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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Q.28	 gmo~VÀ¶m AmH¥$VrV H$mQ>H$moZmMr EHy$U g§»¶m {H$Vr ?
Q.28	 How many right angles are there in the given figure ?
	  4        	  16 	     
	  8 	  36

Q.29	 Imbrbn¡H$s H$moUVm AnyUmªH$ gdm©V bhmZ Amho ?
Q.29	 Which of the following is the smallest fraction ?

	  8
12 	  

3
8  	  9

10 	  
1
2

Q.30	 XmoZ g§»¶m§Mm ‘gm{d 9 AgyZ bgm{d 54 Amho. Ë¶m g§»¶mn¡H$s EH$ g§»¶m 18 Agob Va Ë¶m 
XmoZ g§»¶m‘Yrb ’$aH$ {H$Vr ?

Q.30	 The HCF of two numbers is 9 and LCM is 54. If one of the number is 
18, then what is the difference between the two numbers ?

	  27 	  9 	  48 	  36

Q.31	 Solve (2x2 + 5x _ 3) + (5x2 _ 2x + 5) = ?
	  7x2+3x+8 	  7x2_3x_2 	  7x2+3x_2  	  7x2+3x+2

Q.32	 125 ’w$bm§Mo OodT>o hma VodT>rM àË¶oH$ hmam‘Ü¶o ’w$bo KmVë¶mg {H$Vr ’w$bo {e„H$ CaVrb ?
Q.32	 How many flowers will be left from 125 flowers, if the number of 

flowers in each garland and number of garland is same ?
	  5 	  21 	  4 	  19

Q.33	 486.2163 ¶m g§»¶m‘Yrb 6 À¶m ñWm{ZH$ qH$‘VrVrb ’$aH$ {H$Vr ?
Q.33	 What is the difference between place values of digit 6 in 486.2163 ?
	  5.94 	  5.0994 	  5.994 	  5.9994

H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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Q.34	 Oa/if 2
7

2
7

2
7

2
7


28+ + =+  Oa/then  = ?

	  4 	  8 	  40  	  32

Q.35	 EH$m J«mhH$mZo 750 én¶mg 0.25 q¹$Q>b Jhÿ IaoXr Ho$bo Va 1 q¹$Q>b JìhmMr qH$‘V {H$Vr ?
Q.35	 A customer purchased 0.25 quintal wheat for < 750 then what is the 

rate of one quintal wheat ?
	  3000 	  187.50 	  1500 	  2500

Q.36	 EH$m VobmMr ~m°Q>b ^aÊ¶mgmR>r 3 {‘{ZQ>o bmJVmV Va 7 VmgmV {H$Vr ~m°Q>b ^aë¶m OmVrb ?
Q.36	 An oil containing bottle is sealed in 3 minutes then how many bottles 

can be sealed in 7 hours ?
	  140 	  210 	  21 	  280

Q.37	 750 Mo 12%  åhUOo {H$Vr ?     12% of 750 = ?
	  75 	  85 	  90 	  105

Q.38	 eoOmarb AmH¥$VrMm {H$Vr Q>¸o$ ^mJ a§Jdbm Amho ?
Q.38  	 How much percent is the shaded portion in the 

adjacent figure?

	  4
18      4

13 	   22.22%      33.33%

Q.39	 AÝdrVmZo < 60 S>PZ ¶mà‘mUo 8 S>PZ A§S>r {dH$V KoVbr d Vr gd© A§S>r < 6 g EH$ 
¶mà‘mUo {dH$br Va {Vbm ¶m ì¶dhmamV {H$Vr én¶o Z’$m Pmbm?

Q.39	 Anvita bought 8 dozen Eggs at < 60 per dozen and all of them sold 
at < 6 per one egg. What did she gain in the transaction ?

	  <576 	  <96 	  <196 	  None

H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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Q.40	 X.gm.X.eo. 13.5 XamZo 8500 én¶mMo 5  dfm©Mo gaiì¶mO {H$Vr én¶o hmoB©b?
Q.40	 What is the simple interest on the principal Rs.8500 at the rate of 

13.5 p.c.p.a. for the period of 5 years ?
	  <67.50 	  <5737.50 	  <573.75 	  <42,500

Q.41	 EH$m g‘^yO {ÌH$moUmMr n[a‘rVr 54 go‘r Amho. Ago XmoZ g‘^yO {ÌH$moU EH$‘oH$m§Zm OmoS>bo 
Va V¶ma hmoUmè¶m Mm¡H$moZmMr n[a‘rVr {H$Vr Agob ?

Q.41	 Perimeter of an equilateral triangle is 54 cm. If two such equilateral 
triangles joined and make one quadrilateral, then find the perimeter 
of the quadrilateral ?

	  108 go‘r./cm  108 Mm¡.go‘r./cm   72 go‘r./cm  324 go‘r. cm

Q.42	 18 ì¶º$s 10 {XdgmV <10800 H$‘dVmV Va 15 ì¶º$s {H$Vr {XdgmV <7200 H$‘dVrb ?
Q.42	 18 persons earn <10,800 in 10 days, then in how many days 15 

persons will earn < 7200 ? 
	  12 {Xdg	  9 {Xdg	  8 {Xdg 	  6 {Xdg

Q.43	 dVw©imÀ¶m n[aKmdarb H$moUVohr XmoZ q~Xÿ OmoS>Umè¶m aofobm H$m¶ åhUVmV ?
	  ì¶mg	  n[aK 	  AY©dVw©i	  Ordm
Q.43	 Any segment that joins two points on a circle is called as ......?
	  Diameter 	  Circumference  Semicircle 	  Chord

Q.44	 EH$m narjoV amOdrambm 800 n¡H$s 744 JwU {‘imbo Va {Vbm {H$Vr Q>¸o$ JwU {‘imbo ?
Q.44	 Rajveera got 744 marks out of 800, then find the percentage ?
	  92% 	  93%	  90% 	  94%

Q.45	 Oa IaoXr = <1600 , {dH«$s = <2800 Va eoH$S>m Z’$m = {H$Vr ?
Q.45	 If cost prize = <1600, selling price = <2800, then find profit percent ?
	  1200 <	  80%	  1800 < 	  75%

H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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Q.46 to 48 Imbrb ñV§^mboImMo {ZarjU H$am d {Xboë¶m àíZm§Mr CÎmao Úm.
	 Observe the bar diagram and answer the questions.
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Q.46	 gdm©V OmñV d¥jmamonU H$moUË¶m JmdmV Pmbo Amho ?
Q.46	 In which village plantation of trees is maximum ?
	  C§~«O Umbraj	  dS>Jmd Vadgaon	  H$md} Karve   eoao Shere
Q.47	 gd© JmdmV {‘iyZ EHy$U {H$Vr d¥jmamonU Pmbo Amho ?
Q.47	 How much plantation of trees is done in all villages ?
	  3600	  3700	  3750 	  3500
Q.48	 {dhonojm C§~«O ¶oWo d¥jmamonU {H$VrZo OmñV Pmbo Amho ?
Q.48	 How much plantation in Umbraj is more than of vihe ?
	  950	  650	  550 	  600

Q.49	 Imbrbn¡H$s H$moUVr g§»¶m 3 Zo d 5 Zo {d^mÁ¶ Amho?
Q.49	 Which of the following number is divisible by 3 and 5 ?
	  83052	  76435	  65325 	  92320

Q.50	 gH$mir 10 dmOyZ 15 {‘{ZQ>mZr emim ^aVo d gm¶§H$mir 6 dmOyZ 45 {‘{ZQ>m§Zr gwQ>Vo Va Vr 
emim {H$Vr doi Mmby amhVo ?

	  8 Vmg 15 {‘.	  8 Vmg 45 {‘.   7 Vmg 30 {‘.   8 Vmg 30 {‘.
Q.50	 School opens at 10:15 am and closes at 6:45 p.m. then how long 

does the school run ?
	  8 hr. 15 min.	  8 hr. 45 min.  7 hr. 30 min.  8 hr. 30 min.
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PAPER-II : LANG. & INT.  (Q.51 to 100)
Q.51 	 Choose the correctly spelt word.
	 j Cosmopolitan   	 k Cosmpolitan
     	 l Cosmopolitian	 m Cosmpolitian
Q.52 	 A person who leads others in any field is called  a/an ...........
	 j politician	 k egoist    	 l rebel	 m pioneer
Q.53 	 Choose the correct synonym of the Agony
	 j Misery	 k Peace    	 l Poise	 m Ease
Q.54 	 Choose the correct antonym of the Constant
	 j Firm	 k Regular    	 l Fickle	 m Stable
Q.55	 Choose the correct meaning of the underlined idiom.
	 If you have butterflies in your stomach you are ..............
	 j happy	 k nervous    	 l angry	 m tired
Q.56 	 Your passport shows your ..............
	 j native	 k national    	 l nationalist	 m nationality
Q.57 to 58 Find the odd man out.
Q.57	 j widow	 k peahen    	 l bride	 m hero
Q.58	 j Strifes	 k Cliff    	 l Foot	 m Louse
Q.59 	 Fill in the blank with a suitable collective noun.
	 Yesterday, I lost my .............. of keys.
	 j bouquet	 k bunch    	 l bundle	 m packet
Q.60 	 We saw a .............. of ducks near the pond.
	 j flock	 k herd    	 l pod	 m string
Q.61 to 62 Choose the correct adjective from the given options.
Q.61	 I like .............. pop music but not all.
	 j little	 k less    	 l some	 m any
Q.62 	 The metro I boarded was very ..............
	 j better	 k crowded    	 l lazy	 m wild
Q.63 	 Fill in the blanks with appropriate prepositions.
	 India got independence  .............. midnight.
	 j on	 k about    	 l in	 m at
Q.64 	 Fill in the blanks with the most suitable conjunctions.
	 Asha is wiser .............. her sister Nisha.
	 j then	 k than    	 l but	 m if
Q.65 	 I got here at 1 : 00 pm and now it's 2 : 15 pm. So I've .............. here
	 for over an hour.
	 j waited	 k waiting    	 l been waiting	 m had waited
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Q.66 Vo 69  JQ>mV Z ~gUmar g§»¶m qH$dm eãX AmoiIm. Select the odd man out term.

Q.66 	  dmhZ MmbH$	  gwVma  	  gmoZma  	  bmohma

Q.66	  Driver	  Carpenter	  Goldsmith 	  Blacksmith

Q.67	  68	  85	  153 	  174

Q.68	  1625	  3649	  6481 	  5025

Q.69	  TPLI	  YUQM	  RNJF 	  SOKG

Q.70	 ‘bm 3 ^mD$ AmhoV d Ë¶m§Zm àË¶oH$s 3 ^mD$ AmhoV Va Amåhr gd©OU {H$Vr?
Q.70	 I have 3 brothers and each brother has 3 brothers.How many are we ?
	  4 	  9	  12 	  3

Q.71 Vo 75  g‘g§~§Y AmoiIyZ ¶mo½¶ n¶m©¶ {ZdS>m.
Q.71 to 75  Understanding same relation, choose correct alternative.
Q.71		 {na°{‘S²g²  :  B{Oá  ::  Am¶’o$b Q>m°da  : ?	

		   ñnoZ	  ’«$mÝg  	  H°$ZS>m  	  OnmZ
Q.71	 Pyramid  :  Egypt  ::  Eiffel Tower  : ?

	  Spain	  France	  Canada 	  Japan

Q.72		 424 : 96     ::   521 : ?  

	  105	  125	  196 	  212

Q.73		 LUX  :  57  ::  SIT  : ?
	  48	  68	  41 	  35

Q.74	 M
X  :  31

42  ::  L
O   : ?     21

32     15
23	     21

51     11
41

Q.75	 7 :  50  ::  9  : ?
	  64	  81	  90 	  99

gdm©V ‘hÎdmMr gyMZm  : ¶m àíZn{ÌHo$Vrb *  Agboë¶m àíZm§Mr XmoZ CÎmao AmhoV. Vr XmoÝhr CÎmao Zm|XdmdrV 
VaM Ë¶m àíZmbm JwU {‘iVrb. EH$ ~amo~a Agbo Var JwU {‘iUma Zmhr. The questions with * mark 
has two correct answers. Encircle the two answers, then you get marks.For one 
correct answer, you won't get marks.
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Q.76 Vo 80 àý{MÝhmÀ¶m OmJr ¶mo½¶ n¶m©¶ {ZdS>m.
		  Select the correct alternative in place of question mark.
Q.76		 4, 7, 12, 19, 28, ?
	  30	  36	  39 	  49
Q.77		 97, 90, 76, 55, ?
	  28	  27	  26 	  25
Q.78	 	 3, 5, 9, 17, ? , 65, 129
	  33	  34	  35	  36
Q.79 	 0, 2, 6, 8, 16, 30, 54, ?
	  74	  88	  100	  110

Q.80 	 AZ BY CX
DW EV FU
GT ? IR

 HR		  HS
 HV		  HU

Q.81 	 AmaemVrb à{V‘m AmoiIm.   Find the mirror image of the given figure.
	

 	            	                      	             

Q.82 d 83    7897653428972459297647 ¶m g§»¶m‘mboMm Aä¶mg H$ê$Z ¶mo½¶ n¶m©¶ {ZdS>m.
		  Study the number series given below and choose the correct 

alternative.    7897653428972459297647
Q.82 	 6 À¶m AmYr Am[U 9 À¶m Z§Va {H$Vr doim 7 A§H$ Ambm Amho?
Q.82		 How many '7's are preceded by 9 and followed by 6 ?
	  2	  3	  4	  5

Q.83 	 g‘mZ doim Amboë¶m A§H$m§Mm g‘yh {ZdS>m.
Q.83		 Which digits have occured in same number of times.
	  2,5,3  	  2,4,5  	  3, 7,5  	  8,6,5

Q.84 	 EH$m dJm©Vrb gd© ‘wbm§Zm EH$m am§JoV C^o Ho$bo AgVm, a‘oeMm H«$‘m§H$ XmoÝhr ~mOwZo gVamdm 
Amho. Va dJm©V EHy$U {H$Vr ‘wbo Amho?

Q.84		 In a class, boys stand in a single line. Ramesh is seventeenth in 
order from both the ends. How many boys are there in the class ?

	  35	  33 	  37 	  34
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Q.85 	 nmÊ¶mVrb à{Vq~~ AmoiIm.   Find the water image in the given figure.
	

 	            	                       	             

Q.86		 ‘wbm§À¶m am§JoV, amOZMm H«$‘m§H$ COdr H$Sy>Z 10 Amho Va gwaOMm H«$‘m§H$ S>mdr H$Sy>Z 10 Amho. 
XmoKm§Zr Amnë¶m OmJoMr AXbm~Xbr Ho$ë¶mda gwaOMm S>mdrH$Sy>Z H«$‘m§H$ 27 Agbo Va amOZ 
Mm COdr H$Sy>Z H«$‘m§H$ H$m¶?

Q.86		 In a row of boys, Rajan is 10th from the right and Suraj is 10th from 
left. When Rajan and Suraj interchange their positions, Suraj will be 
27th from the left. What will be Rajan's position from right?

	   10th 	  26th 	  29th  	  27th

Q.87 	 Oa 8 ’o$~«wdmar 2005 ‘§Jidma hmoVm, Va 8 ’o$~«wdmar 2003 bm Hw$R>bm dma hmoVm ?
		   ‘§Jidma 	   e{Zdma 	  gmo‘dma  	  a[ddma	
Q.87		 If 8th February 2005 was Tuesday, then what was the day on 8th 

February 2003 ?
	  Tuesday      Saturday    	  Monday   	  Sunday

Q.88 	 amohZ CÎma {XeoZo 10m MmbVmo. S>mdrH$S>o diyZ 30m MmbVmo. eodQ>r S>mdrH$S>o diyZ 50m 
MmbVmo AmVm amohZ gwadmVr nmgyZ {H$Vr A§Vamda Amho ?

Q.88		 Rohan walks northward 10m. He turns left and walks 30m. Finally 
he turns left and walks 50m. At what distance is Rohan now from his 
starting position ?

	  50 m	   10 m    	  20 m   	  90 m

Q.89 	 g{MZ Amnë¶m KamVyZ n{ü‘ {XeoH$S>o MmbV Jobm. 3 {H$.‘r MmbyZ S>mdrH$S>o diVmo, Va 
AmUIr 3 {H$ ‘r MmbyZ COdrH$S>o diVmo. AmVm Vmo H$moUË¶m {XeoZo MmbV Amho ?

Q.89		 Sachin starts from his house and walks Westward. After walking 
3km he turns left and after 3km turns right. Now in which direction 
is he walking?

	  CÎma /North   X{jU /South      n{ü‘ /West   East /nyd©
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Q.90 Vo 92 A{ZVm àVrH$À¶m AmB©Mr ^mMr Amho. A{ZVmMr AmB© àVrH$Mr ‘mder Amho. amohZ, 
A{ZVmÀ¶m AmB©Mm ^mD$ Amho. amohZMr AmB© A{ZVmMr AmOr Amho. ¶m ‘m{hVrdê$Z Imbrb 
àý gmoS>dm.		

Q.90 to 92 Read the following information and answer the question given below.
		  Anita is niece of Prateek's mother. Anita's mother is Prateek's 

maternal aunt. Rohan is brother of  Anita's mother. Rohan's mother 
is Anita's grandmother.

Q.90		 amohZMr AmB©, AZrVmÀ¶m AmB©Mr .......... Amho
 		   ‘mder     	   AmB©   	  g§~§Y Zmhr   	  ~hrU
Q.90		 Rohan's mother is .............. to Anita's mother
 		   Aunt     	   Mother   	  No relation   	  Sister

Q.91		 àVrH$Mr Am{U AZrVmMr AmB© .............. AmhoV.
 		   MwbV ~{hUr  	 ZUÝX   	  ‘¡ÌrUr   	  ~{hUr
Q.91		 Prateek and Anita's mother are ...........
 		   Cousin sisters     	   Sister-in-law
   		   Friends  		    Sisters

Q.92		 amohZ hm àVrH$Mm .............. Amho
 		   ^mD$  	  ‘oìhUm   	  ‘m‘m  	  MwbV ^mD$

Q.92		 Rohan is Prateek's  .............. 
 		   brother     brother-in-law   maternal uncle    Cousin brother

Q.93 Vo 95 {Xbobr AmH¥$Vr Aä¶mgm d Imbrb àým§Mr CÎmao Úm.      
5	

8	
3	

1	
2	

9	
4	

Q.93 to 95 Study the following diagram and 
		  answer the question.
Q.93		 H$moUVr g§»¶m gJù¶m AmH¥$Vr‘Ü¶o Amho ?
Q.93		 Which Number that lies inside all figures?
 		   2     	   5   	  9   	  8
Q.94		 XmoZ AmH¥$VrV AgUmao A§H$.....
Q.94		 Numbers that lie inside any two figures....
 		   2,4     	   5,1   	  5,9   	  9,1

Q.95		 ’$º$ {ÌH$moUmV AgUmao A§H$......
Q.95		 Number that lie only inside the triangle......
 		   1     	   2   	  5   	  9
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Q.96 Vo 97 àË¶oH$ àíZm‘Ü¶o VrZ KQ>H$ {Xbo AmhoV. Imbrbn¡H$s H$moUVr AmH¥$Vr ¶mVrb g§~§Y 
CËH¥$ð>nUo Xe©{dVo ?

Q.96 to 97 Each question contains 3 items. Which of the following figures 
depicts the correct relationship between them.

		   
A B C D E

 
Q.96		 ‘H$m, D$g, nrH$    Q.96   Maize, Sugarcane, Crops
 		   A     	   B   	  C   	  D

Q.97		 njr, ‘moa, dmK     Q.97   Birds, Peacock, Tiger
 		   A     	   B   	  C   	  E

Q.98		 EH$m gm§Ho${VH$ ^mfoV BIRD hm eãX, YRIW Agm {b{hbm Va Ë¶mM gm§Ho${VH$ ^mfoV 
FLAG hm eãX H$gm {bhmb ?

Q.98		 In a certain code language BIRD is written as YRIW, in the same 
code language FLAG will be written as.

 		   SNYT     	   UOZT   	  OVZT   	  NSYT

Q.99		 EH$m gm§Ho${VH$ ^mfoV HIGH hm eãX 8978 Agm {bhbm Va Ë¶mM gm§Ho${VH$ ^mfoV DEAF 
hm eãX H$gm {bhmb

Q.99		 In a certain code language 'HIGH' is written as 8978 then how will 
DEAF be written in that language ?

 		   5416     	   4561   	  4516   	  4156

Q.100	  {Xboë¶m AmH¥$VrV g‘m{dï> {ÌH$moU {H$Vr ?   

	 How many triangles are there in the given figure ? 
	  18        24     
	  22        20
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hr gyMZm Amåhr dmMbr Zmhr.bjmV am{hbo Zmhr.Ago H¥$n¶m gm§Jy ZH$m.
	 narjoZ§Va 10 Vo 15 {Xdgm§V ’$º$ EH$ ‘{hÝ¶mgmR>r {dÚmÏ¶mªZr gmoS>{dboë¶m CÎman{ÌH$m 
ñH°$Z H$ê$Z do~gmB©Q>da Q>mH$ë¶m OmVrb.Am‘À¶m CÎmagyMrV H$mhr Xmof Agë¶mg CÎmagyMr Omhra 
Pmë¶mnmgyZ 10 {Xdgm§Mo AmV ñnï>rH$aUmgh nmoï>mZo OiJmd H$m¶m©b¶mV boIr H$idmdo. ‘obda 
qH$dm ìhm°Q²>gA°nda nmR>dy Z¶o. Am‘À¶m CÎmagy{MV H$mhr Xmof Agë¶mg Vo Xÿa H$ê$ZM {ZH$mb V¶ma 
Ho$bm OmVmo. àíZM MwH$sMm Agob Va Ë¶mMo JwU gdmªZmM {Xbo OmVmV.Amnë¶m nmë¶mMr CÎman{ÌH$m 
S>mD$ZbmoS> H$ê$Z R>odmdr. nwT>o Ho$ìhmhr VH«$ma H$aVmZm {VMr qàQ> Amdí¶H$ AgVo. ¶m~m~V H$moUrhr 
’$moZ H$ê$ Z¶o. do~gmB©Q darb gyMZm dmMmì¶mV. Amnbm nmë¶ amÁ¶ñVar¶ JwUdÎmm ¶mXrV Amë¶mg 
Ë¶mÀ¶m ñH$m°baernMm AH$m¢Q>no¶r MoH$ Ë¶mÀ¶mM ZmdmZo EH$XmM {Xbm OmVmo. åhUyZ {dÚmÏ¶m©À¶m ZmdmZo 
~±Ho$V ImVo H$mTy>Z R>odm. Amåhr {Xboë¶m MoH$darb Zmd AJa VmarI ~XbyZ {Xbr OmV Zmhr. Amnbm 
nmë¶ H|$ÐñVar¶ JwUdÎmm ¶mXrV Amë¶mg Ë¶mbm Q´>m°’$s {‘iob. JwUn{ÌH$m, JwUdÎmmYmaH$m§Mo Q´>m°’$s d 
àepñVnÌ OyZ‘Ü¶o emim gwê$ Pmë¶mda 15 Vo 20 {Xdgm§Zr ñWm{ZH$ à{V{ZYr‘m’©$V emioVM {‘iVmV. 
¶m~m~V Amnë¶m ñWm{ZH$ à{V{ZYrer g§nH©$ H$amdm. Am‘MoH$S>o g§JUH$,B§Q>aZoQ> Zmhr, Amåhr {ZH$mb 
doioV nm{hbm Zmhr, Amåhmbm emioZo qH$dm H$moUr gm§JrVbo Zmhr hr H$maUo MmbUma ZmhrV. gdmªgmR>r 
EH$M {Z¶‘ Agob. doimodoir Am‘À¶m g§Ho$V ñWimdarb gyMZm dmMV ahm. 15 Am°JñQ> 2024 Z§Va 
¶m narjoMo H$moUVohr aoH$m°S>© CnbãY Zgob. {ZH$mb {‘imbm Zmhr Va àW‘ Amnë¶m ñWm{ZH$ E‘Q>rEg 
à{V{ZYter g§nH©$ H$am. Z§VaM Am‘MoH$S>o boIr VH«$ma H$am. gd© nÌì¶dhma nmoñQ>mZo AJa Hw$arAaZo 
Am‘Mo OiJmd nÎ¶mda H$amdm. ‘obda qH$dm ìhm°>Q²>gA°nda H$mhrhr nmR>dy Z¶o. narjoZ§Va {ZH$mbmn¶ªV 
H$moUrhr ‘mo~mB©bda g§nH©$ H$ê$ Z¶o. ¶m H$mimV ‘mo~mB©bda AZmoiIr Z§~a [a{gìh Ho$bo OmV ZmhrV. 
Ë¶m‘wio J¡ag‘O {Z‘m©U hmoVmV.

6

CÎman{ÌH$m ’o$aVnmgUr AO© Z‘wZm ( A§{V‘ ‘wXV : 28/02/2024)
{dÚmÏ¶m©Mo Zmd -                                                        ~¡R>H$ H«$‘m§H$ -
narjoMo ‘mÜ¶‘ -                                          narjoMo g|Q>a -
nmbH$m§Mm KaMm nyU© nÎmm - nrZH$moS (Amdí¶H$)
nmbH$m§Mm ‘mo~mB©b Z§~a -
gmo~V OmoS>md¶mMr do~gmB©Q> dê$Z H$mT>bobr H$mJXnÌo -
(1) JwUn{ÌH$m, (2) {dÚmÏ¶m©Mr CÎman{ÌH$m, (3) Am‘Mr CÎmagyMr, (4) MAHARASHTRA
TALENT SEARCH PARIKSHA JALGAON ¶m ZmdmMm é.700/- Mm gaH$mar ~±Ho$Mm S>rS>r d
(5) ñdV:À¶m KaÀ¶m nÎ¶mMo {VH$sQ> Zgbobo nmH$sQ> (6) narjoMo hm°b{VH$sQ>
¶mn¡H$s EH$hr H$mJX Zgë¶mg ’o$aVnmgUr hmoUma Zmhr. ’o$aVnmgUrV JwUm§V ~Xb hmoD$ eH$Vmo.
JwU H$‘rhr hmoD$ eH$VmV. dmTy>hr eH$VmV. JwUm§Mr dmT> Pmë¶mg é.700/- Mm hmM S>rS>r naV
Ho$bm OmB©b. ’o$aVnmgUr Z§Va {dÚmÏ¶m©À¶m CÎman{ÌHo$Mr a§JrV Poam°³g àV {Xbr OmVo.

         nmbH$m§Mr ghr                                                {dÚmÏ¶m©Mr ghr



ghmdr 628124 16 www.mtsjalgaon.co.in

H$ÀÀ¶m H$m‘mgmR>r OmJm.....


